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INCOME FINAL VALUE INTERMEIDIATE LA
CONSUMPTION | ADDED CONSUMPTION SALES
1000 0 1000 / 1000 ol
COTTON
1100 1100 1100 / 900+200 WEN!
MILK
/ / / / / S
WOOD
1300 2300 1300 1000 2300 o
CLOTHING
3400 3400 3400 / / GDP

Cotton Producer did not use any intermediate consumption, VA=1000-0=1000

Milk producer sold 900 to clothing producer and 200 to wood producer=1100, he did not use any
intermediate consumption, VA= 1100.

Wood producer did not sell any product, thus VA=0

Clothing producer: sold 2300, and used the cotton that sold from cotton producer for 1000; VA= 2300-
1000= 1300

Total VA=1000+1100+0+1300=3400

According to the rules: the income= the value added, the result is presented in the final column as shown,

VA=INCOME=3400

The cotton is intermediate consumption, so the final consumption =0
The milk is final consumption, thus the sales=the final consumption = 1100
The sales of wood= 0

The sales of clothing considered as final consumption =2300

Total final consumption = 1100+2300=3400

Cotton Producer did not use any intermediate consumption, VA=1000-0=1000
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1500 2500 1500 4000 | A
3000 2000 3400 1600 5000 | B
4000 1000 2600 2400 5000 | C
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GDP=C+I+G+X-M=4000+3000+0+3000-1500=8500



